Worksheet for Lab 10
Name _________KEY______________

2.3  compile Throw and show the output

	  Ï«Ï ----jGRASP exec: javac U:\Web\2008-CS239\Lab10\Throw.java
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


2.5 compile Throw and show the output

	 Ï«Ï ----jGRASP exec: javac U:\Web\2008-CS239\Lab10\Throw.java
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


2.7 compile Throw and show the output

	Ï «Ï ----jGRASP exec: javac U:\Web\2008-CS239\Lab10\Throw.java
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


2.9 compile Throw and show the output

	  «Ï ----jGRASP exec: javac U:\Web\2008-CS239\Lab10\Throw.java
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


3.4 Roll your first Die object and print out the result

	  «Ï ----jGRASP exec: java Tester
ÏÏ§Ï
ÏÏ§Ï first roll is 1
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


3.5 Roll your second Die object and print out the result

	 Ï«Ï ----jGRASP exec: java Tester
ÏÏ§Ï
ÏÏ§Ï first roll is 4
ÏÏ§Ï second roll is 5
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


3.6 Create an instance of a Throw object and print it out

	 Ï«Ï ----jGRASP exec: java Tester
ÏÏ§Ï
ÏÏ§Ï first roll is 3
ÏÏ§Ï second roll is 1
ÏÏ§Ï 
ÏÏ§Ï Here's the result of the two dice thrown 
ÏÏ§ÏThows are  3and  1 and points are 4
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


3.7 Print out the value of the firstThrow of each of your Thow objects 

	 Ï«Ï ----jGRASP exec: java Tester
ÏÏ§Ï
ÏÏ§Ï first roll is 4
ÏÏ§Ï second roll is 3
ÏÏ§Ï 
ÏÏ§Ï Here's the result of the two dice thrown 
ÏÏ§ÏThows are  4and  3 and points are 7
ÏÏ§Ï 
ÏÏ§Ï The 5 first throws from the array are:  
ÏÏ§Ï4
ÏÏ§Ï6
ÏÏ§Ï3
ÏÏ§Ï6
ÏÏ§Ï5
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


